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MEC-002 : MACROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any two questions from section-A and five 

questions from section-B. 

SECTION - A 

Answer any two questions from this section in 
about 500 words each. 	 2x20=40 

1. What do you understand by steady state in the 
neoclassical growth model ? Explain how steady 
state is maintained when population growth and 
technological progress are taking place. 

2. What do you understand by endogenous 
growth ? What are various models in endo genous 
growth theory ? Discuss 

3. Explain Lucas's critique of macro economic policy 
evaluation. What is the role of micro foundations 
in Lucas's critique. 

4. Explain Rational Expectations hypothesis. How 
can the unemployment inflation trade off be 
explained on the basis of rational expectations ? 
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SECTION - B 

Answer any five questions from this section in 
about 250 words each. 	 5x12=60 

5. Explain with the help of an example the 
mechanism through which the investment 
multiplier operates. 

6. How can the concept of menu costs be used to 
rationalise nominal price rigidities ? 

7. Explain the role of money using the overlapping 
generations model. 

8. Describe the salient features of the efficiency wage 
theory. 

9. Explain how a fixed exchange rate system works. 
Explain how price adjustments take place under 
such a system. 

10. What is an IS curve ? Explain how equilibrium in 
the goods market can be explained with the help 
of the IS curve. 

11. Explain the New Classical business cycle theory. 

12. Briefly explain Kalecki's political business cycle 
theory. 
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